] ‘ ) 23 imel { [.eo &c B
F“’”‘" moss H in Q.Soﬂj CQMPJ— 14595 %™ 44 M(G.oilkmuﬂ""“ﬁ)(q—déi):O.Jéqj H

%ﬁ - h—\p([-)‘—
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(2 Mol 0 = 5.553@3(-‘—"3?%:?— = 03533 mol Of0. 2695 =1.33 mol O
\ 1. A hypothetical compound conta‘?nmg 466 hydrogen, and oxygen consists of 76.33%
ol carbon by mass. A 25.00 g sample of the compound contains 1.595 x 102 H atoms. What
is the empirical formula ?'t:&lhliz c)omp})ugd? C/ [é ch, H'| Otﬂs 3) X3
Mol C = [Qeg8q((2tl=) = [, ETmelCf 0, 2¢¢¢ =6 e = (., 0.0
a) CeH303 b) C 262‘j c) C:HO d) CsH4Os @C)gH;;
- | ol H, ’ ‘ eh«lnv\cg}
Mol H = 0. 2674 ( = 0264 Tmd B0, 2045 = (v [f

. {.0c0% o FQG"MUIG{
{3 2 A 1.00 g-sample of a metal chloride, MCly, is first dissolved in some waterm——

| lz& excess aqueous silver nitrate is added. A precipitate forms having a mass on 1.29 g. AU €@ b Corpeund
{ ends vp «s

Calculate the molar mass of the metal, M. Silver chloride has a molar mass of 143.35 ce fn _Arﬁcé" _

/mol. ol AgCE( rlmnol (2 \/ [aot ML
EALC (L__s_ﬁ““ J(Ti“i—g—— s ) =ilg S

hael M2, =294 A4L 43356 NooiAgte A Zavlce ol Mcdy
a)) 151 g/mol  b) 222g/mol ~ ©) 76gimol  d) 111g/mol ) 56gmol

Molar mess M(é’z' = l:00¢ MClp ‘:.,222‘2:1/%] / 222.2 = meler wmass A+ 203644 /.
) . ] ] -3 S MO cer ] =222.2— A ;
3 l“’f 3 Consider the following %u‘}f‘é—o}%}l)%un'aé@ KCl, HE)C\IN nhi‘eﬁﬁf ggthese four Y0.%) @
':'Z' 23 compounds will have a vapor pressure greater than that of 1Cl at 25°C?
Molar mass T2 ~— 1 ljjm;l C Tl lhes Qipelefovces + LDE, Kee i35 Teunic Se has s'#n.-“jw
TCL 13 polay, ! . ¢
a) 0 (ndie b) 1 ) 2 73 |
Fmf and 6 lower Vapee pressoere. Tha oHher Tmpocids( —P)FJJ Ke,&uf(.é’er) heu?
e) 4 (All four of these compounds have a vapor pressure greater than ICI at 20y .
weaker I"M-F, S0 Acher b‘af\w piessore . e Moo olar gr?' bhog Siwmd lcr melae s

+o IC-&’,L d s pedpelar Xe i 5 hempole ad hax Sedlee wgls s B E 5 il . e, BasT
» v s AL r © hgler 5. €0 Beis f‘ © : —_
L]L 5 4 Consider the following balancews S vatlor mulan mass dun L Sctweater LD
13 ] 30 slnel Sy ikl '
' 2CHe(g) + 702g) — 6H0(0) + 4 CO2(g) _

molar Aieas g Co Hy and @, ere abeot e Sance So ﬁq v hi s G

Which of the following statements (a-d) is/are true? i i o ‘
Yo lvcades Wad oy '3 S*i—a_r—“ e reactien w ot~ aht‘u’f C’Tv‘a‘ hag (€S 9{62 Hé a"igoé.i

F a) If we react equal masses of CoHg and O, then CaHe is limiting.

rov~ e h A (P aL f@ua‘hoa D, 13 Lged up s%rr#tan(g”é[ra.u.Me ?:2_{

e 4
F b) If we react equal moles 2He and Uy, then both reactants run out at the same time.

I
Mol tebio. Se i 5% & 1s greater Hum C, +hen
(B T or CA1 i et e Lo s, Grsete st O, t

e mass of CoHg reacted 1s larger ass df Oz reacted, then O; must be <+
mee &2 15 used Laster st he limmi Ping iaHhis Cag ey )
= d) l% the I%ass&of O, reacted 1s"ifrger tﬁan the nmsshg'ngzH(J reacteed, then CzHi ust be ("‘”&3"“‘

—

limiting. we I-,avﬁ moré Ma(e‘sm&é/g AS Compared +o wueles e¥0y

limiting. ZL\{,\Q{'— M&SSM}{;_
¢) At least two of the above statements (a-d) are true.
h=ORT . 2255/ (0. 0¥20¢ S=N343¢) — 2p.4 5‘/*\40'

- \f = 7T
té A compound consistg'o%tg‘)ﬁ)%/::ré:m)and 48.2% Cl by mass. The gaseous density
14 J.5 of the compound at 120.°C and 250. torr is 2.25 g/L.. What is the molecular formula of the
compound? ASSCGme LO©.00g Conpeuvnd:

Lf‘?:Dﬁ(_e:G—L%:LLOQhaEC/LZé’ = 3melC \ ( H, o s

2.eig

wn

C3HaCl h HeCl2 | CoHeCl3. '
2'?$ji/(:%:i§:) :lci(%lia? Hg[[is‘é = 9) fvfo[()l QMPFP“IC‘., -,Corup,an
d) CsHisCly e) CeHiCl , Cmp mass = 3(12) +2(0) 1355
W2 gee(iEisy) I3 mel 4/ 1136 = [ralce X 73,5 gl

Moler mass - 2206 _ ‘ N\ , _.
ei\&#-i::; eSS - ?_55 '—/3 / (Cjué(-é-)xs E‘S mlewlur 'Fo”“_,,lqr
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after Jzx O % x
(c 6. Equal moles of Cly(g) and Na(g) are placed in a 4.00 L flexible container. The Cl; and N
= ( are reacted to form NCl3(g) at some constant temperature. After the reaction has gone to
; completion, determine the final volume of the container. Assume a constant pressure.

-frw-.lwlé.‘:.a/?ﬁ.s x +O+ Y x = I x

a) 2.00L 2 67L c) 300L d) 400L e) 6.00L
v o Vi = Ve -
;L J Yool / vZ ﬂ«(‘-{ooL)

evacuated to a pressure of 8.0 x 10~ torr at 20.°C? -~ 26 L
Rl e e e A
b) 2.6 x 1013pamcles z) Q ;gart!cﬂgs*: -

a) 2.3 x ]O‘Opamcfes ! . , 4 I
1% Pochelos= QT 56 (O no ( (€22 MO gas pacirchs
19} pamcles e) 4.6 x Ompa icleg ™Me ) 5“2; Tforrfn
wC 1S
Pices * T2 ) (Voere —nb) N RTs a refers 4o cirSp

9 8. Which answer bests completes the following statement’ In the van der Waals equation

3:_{_‘3/ T F%/(‘){:v many éas pam?es remain in a 2.0 L flask initially filled with air wh1ch is then
i+ .

+138 for gases given on the constants page, the symbol labeled “b” ......
| égfn Fecuwlecvlar Lorces aud b refers fo Siz2e //3&5 Molecu’f'
a) isexpected to be a small value for polar gas molecules and a large value for nonpolar
gas molecules. R a_ ¢ b velves are alw:z&_g PQSY‘)EW <.
O )) depends on the size of the gas molecule.
c) isexpected to be large for gases that exactly obey Dalton’s Law of Partial Pressures.
d) often has negative values.
e) isalways a negative value.
The next two questions refer to the following balanced reaction to produce the toxic insecticide
DDT (the molar mass of eaeh ompound is below each name) : .
mF e po s o ?,_P_s,ﬁj’(;:.‘w R qu,;g?.%ﬁ (15634 DT
frmidiny 5 CeHsCl ~ + = H"tf H20
Chlorobenzene =C g chloral "Ckﬂ_ DDT water
1L ¢ 112.55 g/mol [mol €625 147.38 g/mol ' 354.46 g/mol 18 02 g/mol
o hh.\t.u ?50_.:,@9{4133 )_“L%EIX(?SH DD T
J :If 100.0 g of chlorot)enzene reacted WlthL7 >t th ora] what mass of T would
18]19 be produced assu 1ng 100% yleld‘? .
Sitnce CR reec odu ces S‘M{f“f’f’f O*“"@”“*J 9{ DD(/'QB
a) 134¢g b) 145g c) 157 dy175 ¢ e) 180¢g
i ‘?M]"l‘\m} Qv\& f '7‘3 C@n Q/Aro veed,
@—t)L' 10. 1f 100.0 g of chlorobenzene is reacted with 75.0 g of chloral, what mass of excess
iq (&2 reactant is left over assuming 100% yield? (ol < (ool Ch A ){H 142889 =/cy3
mage ch ¢ Hd recids with 00.0 qC R = (00, 03CB I '55_? Zul C3 . R [ae &bl réujfﬁ
@ 9.5 gexcess by 11 4 g excess c) 16.9 g excess

d) 22.0 g excess e) 25.0 g excess s )
e xcess Chloral = ¥5.0 g b2 uidid - 6547g ke reddel = A Syemeihes



Foorin, ®©.lec 1_(9_'_“9_9*::1) = 0900 el Fece, =o.0leorilFe'', b.0focry
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Consider the following information for the next three questions. 100.0 mL of 0.100 M
iron(II) chloride is added to 100.0 mL of 0.100 M sodium hydroxide and a precipitate forms.
W Felf ) + 2 MeOHcey)) —> Fe(_g#}_e(s) + 2 MaCll cag)
. T 1. Which of the following is the correct net ionic equation for the precipitation reaction?
[ Ket Touic eg valion = F@"‘C&?) + 20H7cey) > Fe (64/)2('5)
a) Fe®(aq) + 2 Cl(aq) — FeCla(s) \ |
Fe*(aq) + 2 OH-(aq) > Fe(OH(s) &' awdl (L™ are gpecider lous,

{ Lz c) Na'(aq) + Cl-(aq) — NaCl(s)
Wi [IL + o
d) Na'(aq) + OH (aq) — NaOH(s) Invol FeCodl),

T# Fe*hniduiz 0.0100mol Fe*( T reer ) = 0.0160 weol SICN

12, How mahy moles of precipitate form assuming 100% yield? \.\
fwof Fe(oﬁ)z) 0.00560 mo| Fe((g#) :

6H Banibing & ©.000 nmel OH ™ ’ 2
T a) 0.0%00 mol b) 0007504381 °H S

g“ﬂﬂt QH—ProcDur_ej < 1(334 cnmow . ' -
{d 000500 moT™ ) 0.00333 mol '?( freap faol v, G0 1 3
i e aud @o0s560ms] Fe(ey) Precipidete cenormn,
0]

| 25 13. Calculatedhe molarity of the Fe** ions after prec1p1tat101f'i’s mpletE.
3 (3 EX(esE me| FC?"L = ® .0loomo]| Fc”-—-— me| P27 ivx'bre:'lf.\}{c&.(
a) O M . b) 0.0500 M c) 0.0750M
MO | r_-e‘H' e 'Qrc(.‘u,hl*l-cA ¢ = 006560 wnuo) FCCG#]L(J&'J_EL__ e 0005@0‘40' L—éz-r‘
- . mol FeCoH), :
d) 0.0330 M e) 0.0250 M "
0 ©500 0| o

C xc e 2 - @.60/00 ~0 06500 = @.00500 excexs =

14 24 14, Consider four different solutions that are each prepared by adding the ?@e E%f] of _
T_ﬁ?ur Eé%e flissolved in the same volume of solution. The solutes are%f 1, , KOH, an Opr50Mm)
aOH. Which solution has the largest molar concentration of sohlte?

Molarity = Meles solut € ~ ¢ Hee Colotrom it &rg est Cof\cem‘rml‘:au\
af'Lim UbTuwe goTdie J ) KOH d) NaO
[~ &< \-I-&Q [a;r ::5"{‘ ’_\UMLGI‘“ Mo[fS pf‘CSE‘ﬂ. K 'Sl\nCe GL” dare M&&( Erovn
e) All four of the¥e solutions would have the same concentration of solute.
Sawce masS ¢ ¢olot ¥, He Solote o ith Y Spnallest molar
- b s ?g? kew Ho hpst moleS presedt i Tlas s MeoH( Yoo Lol ),
125 15 Consider the following four concéli_tlons (I-IV) describing 1.0 mol of a gas sample? :
5 A 9as fe haves mos+ 1 exl[:l at Low pressor¥S anl "{3}\“’""“&&‘
r) , PI‘ MFCOHIainer Volume TL; 5 C(,rrespangé“th;‘a r e’&"‘i Utl le"g'ﬂ-_ CI'-‘I-L:J‘QI ney
611. high container temperature) Volvme s c & M-("“-’d‘a a5 mouvit
{g low container ressur_e1 - Ve r} NLPEQQ,Q(J(Q} LISLT G &S por les
F .Faslg;imovmg gas particle velocities AL B il m}v e'“é_. cL_s‘f )

How many of these conditions help a “real” gas behave more ideally?

a) 0 (none) b) 1 ) 2 d) 3

e) 4; (All of these conditions help a “real” gas behave more ideally.)
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/ St ) ces [lest empunt of Ho 1< [ {ye.
‘.@—{L 16. Con?]der the folldd ‘;ﬁé I%action 3(Fefss) + Z‘Ifle(l) o—> pF63g (s)f+ 4ﬁz(g) - p R
2515 il (O md FeOy is He Heorc{rcc.f

5.00 mol of Fe is reacted with 4.00 mol of H,0. If the actu yield ) FG304 15 0.50 mol,

what is the percelit yield of the reactlosn‘7 i
% q el Botvel . xweo = L£:30 me klee = @
Hheor o ad & hnof
2 0% 5 13% 3 5% d) 42% & 50% D
L«f I'f is ?OL\IL_(P\A-("I'Q( in Q.chuft‘u‘, ‘()) So L_| [’+ l“"& % [\_ FL‘_?'SF 66 If‘tath'\'

| 2. 17, Consider the compounds PH3, CHa, LiH, and NH3. Rank these compounds order of
incregsing bmlmg point (from lowest to highest boiling point
ek @~ re Miaing o valef Cf)m,'@owp@j i Can Lorm H—éo.MQ‘u:}
a) LiH <PH3; <CH4<NH; b) PH3<LiH < CH4 = NH3

fe "% L&S ‘/"L( VLE’;-’JL!/L? Lps% Ao- i Osh“l 8@'}"‘{’8&»\_ p#$ Czp[_‘p
C) NH3<L1H<PH3<CH4 21) L1H<CH4<}§H3<NH3
g P hao ‘L"Z-e {Cuaer‘ nuolar nwss seo i+ will have -S*chiué(p"
<PH3 <NH3 < LiH
v'LDUvL &' Sfé"SiOr(éV“oes Ctan aQ {’\'jl‘-eﬂ'_é p "("g\.om C‘#‘?’ Ap\_gwe_f e f5
o

rrecd,
l%i 18. A binary compound consisting of an unknown element Z and oxygen contains 43.64% Z
?f

by mass. If the formula of the compound is Z4O10, what is the identity of element Z_‘?# .

3y\ oo, Of’j CL‘-MIBCL "I—&f‘. %WtC [ Lfgé‘sz— s [@b-t’e‘l—‘f}.é‘{ :,—5&: + 00’

a) P) b) 2 c) Se d) 1 e) Ni T
Yool 2\ _ ) L 43 é‘ta -
e = 56364 OC‘(J"‘"’J el o) [ {0l 2 Ma’ax hass Z = (O wnl —’)Of; hd
o 19 A balloon contams equal moles of SO2(g) and He(g). If a small leak in the Balloon
J—H— occurs, which of the following statements (a- d) about gas escaping from this leak is
z g molar mass S€ = Y 3[*—-«‘ £ toler naass He = [wf

l, a) SOa(g) leaks four times faster from the balloon as compare, to the He(g).
red CEE r ‘/—6"'/—‘ Lf

‘Cb) Only helium will escape from the balloon. rate = l
o2 W\

F ¢] He T(g) leaks 16 times faster from the balloon as com ared to the SO2(g).
t ltaks €ron {-Z.ﬁ loom woill be 4 Finees f(asfw'*
m the allo

¢ oot
- d) SOz(g) and He(g) leak at the same rate fro
§C"}a Pmalecafﬂ_‘) feck. Mewe & £

( i) one of the above{étatédn%gn{ts (a-d) ére dorre
Hee Shetemeds Sass 5.

ruc’

% 5 . A70.8 g-sample of Na(g) reacts with excess Ox(g) to form a compound N,Oy. The final
3 roduct has a mass of 111.2 g. Assuming all of the nitrogen gas has reacted. which of the
714 P g g open gas havreacted, which of the

fol]owmg couId be the compound° RaE s B O B o
1.;‘::’ N?—QC’::NL = ’5 95? ‘hd fV/Z;525 - Z_ f&q?urlcai ‘[c:vf‘uq,fc(
N;_O b ¢) NO; d) N20; e) N20s =N, 0.

M = . Ce‘ e.-““{ o b{f\fzﬁ
Ho. H OC[erocc)J 2526 w[@/Z;SZﬁ = | =i Ozeii'% 7 S

‘Z_L\é 21 What vo]ume of 00521 M KOH is required to react completely with 14.20mL 0 [, Mo
A : [ Uty i
25 [© 0.141 M H3PO4? HS PO ) + Bko#c‘rqi) = 34,0l kspayca,_,) i S pf,_;s;g;ei“’z

@ b) 194mL  ¢) 57.6mL  d) 25.0mL ) 384 mL
Qo!?zo7[_0"ﬂwmepf’v/5""”! kot [ 1L ko = OISL m
L [ lnel HJPOqFGSZIM ke O L e
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oo cummst? iz ) 91ech Op compeendl S0 differenit loa g por
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5 ' . .
22 (Z 22, Consider the following boiling point data:
_[j7 i i\,_;] é FegeEns cer e added +0 cach Cowmp QQKQC as moler mass

Compound Formula Boiling Point j n¢recd es), He bei i
methanol CH3OH 65°C pent o £ Hhe c,‘._lfowﬂ%
ethanol CH3;CH;OH 78°C . -
propanol CH;CH2CH,0H 97°C :ﬁn ere &S ¢S bowdon
butatiol CH3CH2CH:CH,OH 117°C Qs persion (LBY forees
pentanol CH;CH2CH,CH,CH,OH 138°C e{(,’uzg en molar hress.

) /'_’N "
Lo o Meefygxg\ Lgu,Qan,ersAa erstew forces WWW
edse steadLlﬁr_o,m_met‘hjanol to pentanol.

The boiling points of these compounds incr
ich type of intermolecular Torce 1s primarily responsible for the steady increase in

. boiling points from methanol to pentanol? . ' i .
fl"—O‘geliuSej as e a o from MQ‘,‘Lﬁnol Yo P‘?”’\chc’,: so e be lin f-’—““\_!f

a) lonic forces [inCTFease as w€ ge frem methanel +o pendans|.
b) Hydrogen bonding forces
¢)_ Dipole forces

d) /London Dispersion forces - : - ——— 5= -
CaXious Prﬂevﬁ N qu i A 4 4 N, Ba : Gwiens Presf""} ‘ij / 56y ivg'{-
3

Zj'ig 23, Aqueous solutions of (NH4)2CO3, Ag2S04, NaBr, and Ba(NO3); are mixed together.

7 Several different colored precipitates form. Which of the following compounds did not
form as a precipitate? A Hy" cnd Nt Tons e ver Fornn frecipidates +o Same IS

froe Ler O, . The ewl‘&'i wsoloble brawide s+ Hhat u.;cu(oQ\Cerh heve

- e ehedd Selew by rules
a) AgCO gﬂ@ ¢) BaCO u“d)aﬁés&il—)’e AgBr
)E < g%} é(‘. i Br‘z o )ha'f” ‘EC-JFMJO Frda+Ha (Qrbe.,l:legruté’, A‘ja,cg_j
| . «COz will both ferm, Frem whe svifate roie) oso, willform,
29114 24. Which of the Tollowing statements 1s false?
5

Moi‘f ITwE gve LnJ:e.\ r.u‘uzn, vserer {)s;{s ‘{"Q‘av\ whea Cutﬁer @ HS/ S

“{ a) For a typical covalent compound, the enthalpy of vaporization should be greater AHLos *
A 1%

(more positive) than the enthalpy of fusion. AH veep Shed& be j‘rcc-*e'“
b) The solid ph hibits the st t t of int lecular fi :
) Aisokl: R ase exhibits the strongest amount of intermolecular fo ﬁtrmh e

ocde e e les t‘-@?ﬁ, ,Uﬁ[-‘c_l'eq ~e
ek AS tempe?ature mg%éés, fﬁe%zfﬁb?lpressureo a liquid increases+w (v qud )oka_se.

@ he intermolecular forces between covalent compounds are stronger thian :}z covalent
bonds holding the atoms together within the ¢ ounifwﬁf‘ufab boforces arc
Mo wmﬁ-’a#—za% Cova len Mﬁsnf" il s wWasnd He Case, (Lhpim
"r e) Ideal gases are assumed to exert no intermolecular forces. g zher is alder deo wale B
H CS Qg Dz q) QJCJ-/};Q#O‘;;?‘
e 1 : . % & esud  weler [ostbeilgaS
Z‘ZF 25. An organic compound contains only carbon, hydrogen, and oxygen. 80m't)ust10n OI\[emnp § wncrewses

T

3.50 g of the compound produced 4.80 g of COz and 1.31 g of H,0. What is the mas
percent of oxygen in the organic compound? Al (1.0l c_} - [.3i0¢ C/
ass C i €:L0. C*"‘P& = Y.q0 i, f—"_"ﬁ‘-égjx __—-—rc";; L~"Mﬁ - [l é

2 g4, 0! _
2 58.4%0 b) 37.4%0 7 3 9% 0 e l‘-/ééc-H
s T in 3800 compll = 13) o o (LI 2umatitl Lol - 0
Sc?) 200%0 5 - ) 74.|8“3;O sozg 3('"9‘” Cﬂwf# J

‘ - — o6 =2.643
hass € Tw 55001 Cam})cﬁ = 3‘50 *1,310 Q.66 QC)‘{ é

~. 20920 _ \
hass b O *é%é—)g;‘c:;zﬁw 52.’1%0 |
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Consider the following information forf#e next 2 problems. A 50.0 L rigid container holds a
certain mass of Ha(g) and the same mass of He(g) (mass of hydrogen gas = mass of helium gas).
The total pressure in the container is 3.0 atm at 25°C. A+ covsteat V wnd T P N,

Z[J ZL Stuce L'*—’t'-]/\qv’t *(—UEC{. “"C.Q i'\—b*mh e e f nwles e’/ Hl as iwe have c-f
é’%

) 26.  What is the partlal pressure of Ha(g) in this container?

He, +fs pardral PFP.\SLN(G7 Hy, ceill be fesice “’f‘e@,{)‘n"“rol p resser
a) 0.50 atm b) 1.0 atm c) 1.3 atm d) ]7atm (ei 2.0 atm ™

of Heo Pro= Py, v hie 3ol 2Py, e Pue= [0 adu
TFH'z.: 3.6 -lo (L AOadw .
ZHZE+ 27 he container 15 heated to 7Calculate the total pressure in the container at 125°C?
Z“F' Z? _EI?J = _____ZZ p +c,-l c.lf.ﬁ I 7*—..5 ffsctufg'{u._,_" VCJ(UM(‘-E 1S CDV\SJ‘CQML{‘
a) 15 alnt 2 T ¢) 1.2 atm d) 1.7 at 6.0 atm
£ X, P =P G = 30dn(lk (Hoadm )
Z
2% [Z8 28.  Which of the following four (I-IV) statements is/are not postulates of the kinetic

2% |73 molecular theory?

«S 1. The volume of each individual gas particle is assumed to be negligible (zero).

j 5> 1. Gas particle are assumed to exert no forces on each other; they are assumed to
neither attract nor repel each other.

7 €5 111 The average kinetic energy of a collection of gas particles is assumed to be T
directly proportional to the Kelvin temperature of the gas. ¥Epve = 5 R

( {20 IV._At a constant temperature, all gas pamcles are assumed to move at the same l
' average velocity. f-} + (_eus-(a:.cf 7 v:'u j@s w’eq} X
elecit

M\‘S-’_ l’e M@Vl (o a(left'(. “_‘\_ C’VCQ(" "(“C'V“
a) 1l only b) Iand I% c) 1AY only ) d) I and 1 ) [l and IV

-Hi,z {!.-tke-‘rt._ C‘uchJ’_ ‘6?4,“‘ 4—0 eack CJ“/‘éff"

i d-Uc'rG.ﬁ ;<4

Z 29 29. Which of the following statements about electrolytes is false“?

. g O

79 | 21 —  fHeids are Cier weal elecdrel ;*fs (wealk acids
(0)
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/r d) Weak acids in water are all weak electrolytes.
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[ e) Strong electrolytes are either strong acids or soluble ionic compounds.

30. My answers for this Chemistry 102 exam should be graded with the answer sheet
associated with:

a) Form A b) Form B | ¢) Form C d) Form D e) FormE



